1. PRENE DB

FH B B R A

(HAr: M)
X4  BiERREHE BT ESE ERBH S5
Bl o OV A
27} & FoofheE EERE LT 187,626
= HAERERAT B/ INE 3E) A 4L T 776,849
T FHFNEHT CEFEE) EIRE 2L LT 151,450
= ZERFURJERTT G/ INvaE 3E) EIRE 4L T 23,524
7 #t 951,823
(AHR) | EMTEE = HAERERAT (/A 3E) A AL T 3,000,000
PR 1 PO IERAT G LT 429,315
Bl & O A4 4,568,764
AU 4 i=¥iUE = S8 INERELT 298,400
A4 ENHIEg = HESREELT 87,660
5 4,656,424
Bl o OV FEA
27} & FoofheE EERE LT 2,978,291
e P4 RO MR T EIRE AL T 25,455,959
&M TR SR HUB SR T G LT 18,364,556
(G RO WPHH LERTT A 4L T 7,614,278
Bl K& OFE4 54,413,084
A4 WA A= SIS [ - & el Da 425,500
&N Baird=t KB EERE FELT 284,782
g 55,123,366
Bl K O A4 58,981,848
(HFH RI& 723,900
NG 372,442
WEVEESE 60,078,190
2. MEVAE DM .
(HA7: )
X4  BEfERREE BT ESE G RER:D] &5
IS AHB AFHEER LT 324,000
() Fh4: KRR BB E T - BB S E I EL T 286,793
UK S R & PRl SR HEL T 61,836
7 672,629
HIEE=: R ERFEEFEHEL T 5,651,118
(i%)ﬁﬁé BE TRE A EL T 771,964
UK R B HEL T 259,975
7 6,683,057
B 5,975,118
(HFh Kib& 1,058,757
THO 4 321,811
mEREEE 7,355,686




